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Fourier Transform — Part 5

2w -per

I

P (R,C) :

Lr-per

i
X > sin(x),

(L e
> inner pvoduoT <§,j> = %/ f}(x)J(x) dx

Let's take integrable functions:
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solufion: equivalence relation JC“‘j = ||§_J ”1 =0
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Let's take square—integrable functions:
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solution: equivalence relation ,gwj <=> ||§_J ||Z =0

set of all equivalence classes: I_'LZ (R,€):= I;_pey(m,d:>/,\,
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Span (x 1917 , X > cos(x) ; X > cos(2x) ; X > cos(3x) ..,

X > sin(x), x> sin(@x) , ...

j (R,Q) = {g rR—> C | §(X+2ﬂ) = j(x) for all XQR}
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C> complex vector space with inner product



